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v Semest€r B.Com. Degred(li€f,fi-o-sBe-aegular/Supplemenlary/

lmprovement) Examinatioil, November 2022
(2019 Admission Onwards)

' core Course
5Bo9 COM : COST ACCOUNTING

PART A

Answer any six queslonslrom lhe lo owing Each queslon carries 1 malk.

1. What do you mean by dtecl malerlals ?

2. What is meant bylob evalualion ?

4. Exp ain cosl alocallon.

5. whal is iojnl cost ?

6. Expain !niiorm costing.

'. wfal is hF o- po>e ol ldlcu d no I OO l
8. Expain Re-order leveloi malerials. (6x1=6)

PAFT B

Answer any six queslons lrom lhe fo ow ng. Each queslion cades 3 marks.

L K Lid. has 3 producl on deparlmenls A, B and C and 2 seruice deparhenls
and E. Followlng lgures are exlracled lrom lhe records oithe company:
Renl and rales Fs 5 000
lnd recl wages - Rs 1,500
Depreciation ol machinery - Rs. 10,000

' Generaliighl ng FIs. 600
Power Bs 1,500

Sundries- Rs. 10,000
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Following iurlher deralls are availabe l

ABCDE
Floor space (sq.melres) 2.000 2 500 3 000 2 000 500
Lighl points 10 15 20 l0 5

Dircct wages (Fs ) 3.000 2 000 3,000 1 500 500

H P of machines 60 30 50 10

Va !e ol mach nery (ns.) 60.000 80 000 1,00 000 5 000 s 000
Appoidon'the costs 10 various deparlnrents on ihe rnosl equ tabe bass by
preparing a prlmary dislrlbulion sumnTary.

10. A transport co mpany s runn ng 4 blses belween n o lowns wh ch are 50 kms
apart Seal ng capacityole6ch bus is40 passengers Thelollowirg parlculars
were obtained irom lhe r books lor April2019
Wages oj Drlvers and conduclors Rs 2.40,000
Otflce stail salary Rs. 1 00,000
oost dt Dieser e.d o Rs 4 00 000
Fepa rs and ma ntenance FIs 80,000
Tax and .surance Fs 1,60000
Deprec alion ns.2 60,000
lntercst and olher charges 8s.2,00,000
Actua passengers caded werc 75% of the sealing capacily All the 1ou r buses
rln on days oi the monlh EachblsmadeoneroLndlfpperday.Findoutlhe
cosl per passenqer k ometer

'- F'orrraloloa^g -_o'trd io p'-pd- oo o{ shaa ro Joo \; l5o
Direci materia consumed Rs 1 000
Direct waSes pald Fs 2,000
Faclory expenses 000,1 on wages
Onice expenses 20% on iaclory cost
Ihe tender should nclude a proiil oi 2091 of selling price.

12 Fro6lhe io owing niormaton. caculate Econori c OrderOLranlty
Annral Demdnd - I 000 urrl,
Cost oi pac ng an order Fs 20

nleresl on capila - 10%

Cost ol storage per unl - Bs.4
lMaterias cost per unil Rs 4Q
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13. From llre lolowng data 1or llre year ended 31"rMarch 2022. calcLate the
nventory turnover raios and aso calcu ate lhe nri.nber of days lhese two
malerials are kepl n the slore bejore ils ssu€ ior produclion.

Nlarerial A Nlalerial B

Opening Stock (0r-04-2021)

Clos ng Stock (3r-03-2022)

(Bsl {Fsl
20 000 18,000

2.50 000 2 40,ooo

30 000 22,aaa

l- p-' ro\rn-ooo qaqdr 'iorr,rdtd6o 9.

16. Whal s lhe purpase oi ma ntain ng both B n Card and Siores ledger
syslem ? {613=18)

14 Ca culale llre tola earn ngs and efiecl ve rate ol eam nqs pe r hoLr r under
Rowan Syslem and Hasey Syslem

The slandard time tixed tor producng 1 dozen adcles- 20 hours.

The slandard rale ot wages = FIs 200 p€r hour

Actlalr me taken l8 hours

PAFT C

Answer any two qrestions lrorn lhe lollowing Each question cades I marks.

17 Two corlracls llrat cornrnenced on 01 Jan'21 and 01 Ju 21r respeclvely.
were underlaken by a conlraclor and h s accoLrnis on 31 Dec 21 showed the

Cornrnercemenl oi lhe contracl

. Expenses oulslandin9

Depreciat on on Planl

(BsJ
1 Jan 21

T2,DOA

1.10,000

4,000
4,000

4.000

20,000

(Fs.)
t h -21

58,000

1 12,,100

2,800

4,000

4,000

16,000
147"
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Cash received lorwork cedil ed

The ptants were installed on rhe date ol
deprecialion lhereon is lo be laken at 10%
n lhe tabu ariorm and ascertain the profit

It i '[ fl itl fl r

4,00 000 2,7Q,000

1,50 000 1,20,000
2.00 000 1,60 c00

6 000 8 000

cori,rnencement ol each conlracl;
p a. Preparethe conlracl accounts

or ossto belaken to proil and oss

r8 Tlre iollowing cosl data are relaled to a product passing thrcuqh 3 processes

Processl Process 2 Process 3

Malerials (4.000 Kgs and Rs. 25) 1 00,000

Direct Labour 40.000 20,000 10 000

Olher Expenses (Fs ) 12400 10,600 22930
Normal Loss as Scrap (9i) 5% 4'n 2t"
Raleoj ScrapvalLe realsed Rs 200 Bs 400 8s.500
Acluaioutpul (Onry) 3,750 3,700 3.600

Prepare a the thrce Process A/cs. Abnorma Loss Ac and Abnormal Gain AJc

19. POR Ltd. has lhree produclion depariments P], P2 and P3 and 1wo seece
depa.(ments 51 ard 32. ln Aprll 2022 lhe depa'henla overheads aller
primary dstribltion were as Io ows:
Production Depts : Pt - Rs 9.000 P2 Rs. 6 000 P3 - Bs. 4.000

Seruice Depls: 51 FIs 1.000 52 Rs.780
The seruice deparlmenl expenses are a oned on a percentage bass as follows

P3 s1 s2
20./" 20."

o 20a" 10."

Prepare a stalemenl showing lhe
depaiments lo three deparlrnenls
sim! taneous equalons methods

dstribluon oi expenses oi the
under the repealed d stribLrlon

(2t8=16)


